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QUESTION 1

What does Mist\\'s patented 16-element vBLE Antenna Array do when "engagement" is enabled? 

A. performs radio resource management 

B. locates Wi-Fi assets 

C. transmits unique and directional BLE beams 

D. performs personal pre-shared key sharing 

Correct Answer: C 

Reference: https://www.mist.com/resources/ap61-access-point/ 

 

QUESTION 2

A network engineer is looking to provision a new WLAN through the REST API. Referring to the exhibit, which HTTP
method should the request use to achieve this goal? 

A. POST 

B. DELETE 

C. GET 

D. PUT 

Correct Answer: A 
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Reference: https://www.mist.com/documentation/mist-api-introduction/ 

 

QUESTION 3

Referring to the exhibit, what are two reasons why a Mist AP would have multiple IP addresses? (Choose two.) 

A. One IP address is used for control traffic and one address is used for management traffic. 

B. The Local Status Page is enabled in the site settings. 

C. One IP address is used for redundancy. 

D. A guest portal is configured on a tagged VLAN. 

Correct Answer: BD 

Reference: https://www.mist.com/documentation/aps-use-ip-addresses/ 

 

QUESTION 4
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Which statement is correct about wireless assurance? 

A. Wireless assurance is a legacy WLAN construct that is difficult to use. 

B. Wireless assurance can be used to proactively optimize WLAN performance. 

C. Wireless assurance is used by clients to ensure that a Wi-Fi connection is stable and reliable before joining. 

D. Wireless assurance does not require a subscription. 

Correct Answer: B 

Reference: https://www.juniper.net/us/en/products/cloud-services/wi-fi-assurance.html 

 

QUESTION 5

Some users cannot connect to the network. You want to identify these users. In Marvis, which query accomplishes this
task? 

A. troubleshoot access points 

B. unhappy clients 

C. troubleshoot clients 

D. list clients 

Correct Answer: D 

Reference: https://www.mist.com/documentation/useful-marvis-queries/ 
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